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the following pair is not correct]
ch one of the y
1. Whic”

mat‘;;‘ﬁﬂ]:‘s _ Authors

) marang : Sawa.i. Pratap Singh
daman - Sayanji Jhula

(B) Nag 3
© Ranmal Chhand - Shndhar. Vyas |
(D) Bhasha Bhushaq - Maharaja Jaswant Singh
(1) B (2 A

2. Bhatiyani Pratapkunwari, the queen of Jodhpur
King Mansingh got the temple reconstructed
elsewhere as the earlier one had caved in. She
got the temple consecrated in 1857. The name of
temple is - '
(1) Kunj Bihari Temple
(2) Ghanshyamji Temple
(3) Teeja Manji Temple
(4) Mahamandir 2

3. Varika Vishnuvardhan Victory Tower situated
in Bayana Fort belongs to which period?
(1) The Mughal period
(2) The Sultanate period
(3) The Mauryan period
(4) The Gupta period

Yantralaya® was established?

(1) Ajmer (2) Jodhpur

(3) Jaipur (4) Udaipur :
3 Which of the foilowing Doctrines are associated

with Jainism?

(i) Anekantavada

(if) Sarvastivada

(iii) Sunyavada

(iv) Syadvada

Select the correct answer using the code given

below -

(1) () and (iv) (2) (ii) and (iii)

(3) (ii) and (iv) (4) (i), (ii) and (iii)

6 When and where .was the Ceniral
Electrochemical Research Institute established
with the efforts of Alagappa Chettiar, Dr Shanti
Swaroop Bhatnagar and Pt. Jawahar Lal Nehru?
(1) Chennai, 1948 - (2) Lucknow, 1951
(3) Shivganga, 1953  (4) Karaikudi, 1953

Where in Rajasthan, the printing press ‘Vedic

: ﬁwﬁ@aﬁﬁamwwﬂﬁ%ﬁ

27
&K@ — oE®
(A) 78 T — e yanRy
(B) ANTEHYT — HiGTSH 3Tl
(C) el v — 3eR O
(D) 98T 6T — HERTST 99dd Rig

(1) B 2) A
3D (4) C

T 3R ERT 991 T =R @Y | 3T g
wﬁﬁmﬂmvrw%m1857ﬁm1w%
B M § —

(1) g9 faerd Ry

(2) Tregrh &7 Tfex

@) < AiSh @71 ey

(4) 7EmHleY

© A g Rerw aRe e fiery v iy
BT BT AFT ST 27

(2) SR

EEULH
- FrfoRed & ¥ o — 3 @ Rigia o 9

W Gt &°
(i) 3BT
(ii) TdReare
(iii) Yrrae
(iv) gTeare -
M RA W g B SwE @R owd I
g —

(1) (i) @ (iv)
() (ii) TF (iv)

(@) (i) T Gii)
(4) (i), (i) ©9 (i)

o 951
- !
(1) 1948 (2) @ISR,
@) Rrawrm, 1953 (@ wREGH, 199~ L
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7.

10.

Among Mauryan idols, the idol inscribed with
the name Manibhadra (Yaksha) was found from
which place?
(1) Noh village
(3) Besnagar

(2) Jhing-ka-Nagra
(4) Parkham

On which part of body ‘Toti' ornament is
worn?

(1) Waist (2) Hand

(3) Nose (4) Ears

Match list-1 with list-IT and choose the correct
answer from the code given below -

List-1
(Festival)
(A) Kajli Teej of Bundi
(B) Holi
( -
(4
(Date/Month of celebration)

(i) The third of Bhadrapad Krishna

(i1) Full moon day of Phalgun

(iii) Bhadrapad Month

(iv) Chaitra Month

Code -

(1) A-(iv), B-(iii), C-(ii), D-(i)

(2) A-(i), B-(ii), C-(iii), D-(iv)

(3) A-(iii), B-(iv), C-(i), D-(ii)

(4) A-(i), B-(ii), C-(iv), D-(iii)

Consider the following statements and choose

the correct answer using the code given below —
Statement | : Krishnadevaraya, ruler of
Vijaynagar wrote the treatise
Amuktamalyada,
Krishnadevaraya is also known
by the name of Andhra Bhoj.
Allasani Peddana, the poet
laureate well versed in Sanskrit
and Tamil, adorned his court.

Statement 2 :

Statement 3 ;

Code -
(1) Statement 1 is true

(2) Statement 2 is true
(3) Both the statements 1 & 2 are true
(4) All the three statements are true

T T el Rl 4, Ao (ge) S siftea

T o v W g g8 22
(1) =g 7w (2) g1
3) THTR (4) txEm
‘gﬁ'wwzﬁﬁm%ﬁﬁmm
(1) wfe (2) =
(3) 1 (4) B
© XE-1 vd A1 B gafera g den
A M oe # ¥ v s g -
-1
(ER)
(A) 921 & FHorall Al
B) @il
qguor 9q
TR
5 el
(e @t fify /wmE)
(i) WEUE PO FAAT
(ii) WIS g
(iii) TSI AT
(iv) 93 98
a;g._

(1) A-(iv), B-(iii), C-(ii), D-(i)
A2) A-(i), B-(ii), C-(iii), D-(iv)}
(3) A-(iii), B-(iv), C-(i), D-(ii)

£4) A-(i), B-(ii), C-(iv), D-(iii)

10. fpg FoMl W AR HIRMA ik RA T e

BT WANT R §Y HEl IR FT 949 B —
P | : IR & TNE FERRE T

IAHICAE. T B T B |

Fo 2 : PORA BN AT W D AW A N
ST ST B :

HUT 3: TP SRAR DI AJeAdr ] USAT AHD
IroTRfd GG FRaT o, Wl Hpa
Td qfer QT AR BT S o7

az\?_

(1) w1 G ?

(2) B9 2 9ET ®

(3) Ho 1 3R 2 ST HEI B

(@) 3 I doe W &

01-%
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114,

A statement is followed by two assumptions
numbered I and II. Consider the statement and
the following assumptions and decide which of
the assumption is implicit in the given
statement?

Statement : Lalita has a large collection of books

114.

B

U B & JTaR] 3 YEURUE 1 3R 11 3

| o iR S TEE €1 TS QRIS B

AR W frofa AR fF Pl qdRom gom

¥ arafifead 82

FA : Al B U gD BT faRmer Hug ¢
3R 98 3w HUE § Affod & @

and she keeps on purchasing new g T g @ed ved 2
books to add to her collection. ; Y e 5 i w
Assumptions : I Lalita has read each and every s e
book that she has purchased. : )
dAferaT @ gDl B
IT Lalita has love and passion for i ferg = sy
books. T &
(1) Only I assumption is implicit (1) e 1qgerreom sififea &
(2) Only IT assumption is implicit (2) el 1 gderRen afifead &
(3) Both of the assumptions are implicit (3) ST gduRYIY srafifea &
(8) Neither T assumption nor IT assumption is @9 @ I gdurem 3R 1 & 1 TqeR
implicit sififRa & ' |
115. A statement is followed by two conclusions  115. 7@ For @ g & e 1 eiv 1 Ry
numbered I & II. You have to assume everything ¥ | MDY B F &) T qDP THE B T
in the st.atemcrlt to be true, the.n consider the two AT &, 2T PSSt @ T R > frfa
conclusions together and decide which of them
logically follows. DT 1w frepd 3RO BT & | |
Statement : Nowadays parents are prepared to DYT . HAThS AT O qedl § ST
pay any fee for an elite education faa™ & g wef Remr dwenmsl &
institute for the perfect development R B 3 B SaR wE
of their children. - .
: : 1 Are- Rreror GwIF @
Conclusions : 1 Parents have an obsessive AR w31 . ;
passion for a perfect AETH N I gedl @ 9w e
development of their children BT IR 2|
through good education 11 3TSThe ) Arar—fiar agd o 7
institute. ) )
II These days all parents are very
well off. (1) Baet e 1 areRor ovar @
(1) Only conclusion I follows (2) e Frpd 11 N
(2) Only conclusion II follows (3) 2T P srRRer B
(3) Both conclusions follows (@) 5 o spY 1 3k =7 &) fed 11 S
el & '

(4) Neither I nor II conclusion follows

_//

————
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130. 1f o a certain amount, the difference between
Compound interest and Simple interest at the

rate 5% per annum for three years is Z 183, then

* the Principal amount is -
(1) 21,000 (2) 218,000
) 8,000 (4) % 24,000

131. Who among the following won silver medal in

Tokyo Olympic 2021? Select the correct answer
from code given below -

(A) Ravi Kumar Dahiya
(B) P.V. Sindhu

(C) Bajrang Punia

(D) Mirabai Chanu

Code -
(1) (A) and (B) (2) (B) and (C)
(3) (A) and (C) (4) (A) and (D)
132. ‘Hunger Hotspots Report’ was released on 23.
March, 2021 by -
(1) Jointly by FAO and WFP

(2) Food and Agriculture Organisation (FAO)
(3) UNICEF f

(4) World Food Programmie (W FP)

. 133. Who among the following have "got place in

Time’s 2021 list of 100 most influential people?
(A) Narendra Modi

(B) Mamata Banerjee

(C) Adar Poonawalla

(D) Manjusha P. Kulkarni

Correct answer is -

=AM

Js =

......

(4) Only (A) and (B)-are correct

134. Who among the following is the author of the
book ‘Marathon War : Leadership in combat in
Afghanistan’?

130- 5l &1 B 5% fF = ¥ A g

131.

) (AT (B)

132,

133.

TS TR HERYT T BT IR 183 % 3,
oA ® —

(1) 21,0002 (2).18,000%
(3)38,000%. (4) 24,0003

ﬁqﬁi@aﬁﬁzﬁﬁaaﬁq’raﬁaﬁmzozl 3§
Rrer gew faor @27 RE T o ¥ ¥ vy
SR BT YA DI —
(A) XA TR Rar:
(B) 4I. 91 Ry
(C) o gfan
(D) #RTaT$ =Ty

R AL

2 B)TE (@) -

@ (A) W& (©) (4) (A) 7 (D)

23 7€, 2021 B FR ewe RO s
ERT S @Y SR

(1) (FAO) 7= (WFP) ST & &RT Wiem 9
(2) = 3R Y wrew (FAO)

() If¥% (UNICEF)

(4) faza @re sdse (WEP)

Frifeser % & ey erdw 2021 Ree aifw 100

ANE SHEIRES et § vy R 27

(A) T A '

(B) ¥HaT 7ot

(C) =R FArETET

(D) HopsT Y. Ferapoff

A IR ® — :

(1) &9 (A), (B) 3R (C) ey &

42) 39 (B), (C) ik (D) W &

3 (A), (B), (C) 3R (D) et #

@ @I (A) 3R (B) wet &

134. Frifed & & B e AR : v T

WWWWWWM
&

m qrre "

(1) Samuel Moyn : gﬂ

(2) Jeffrey Schloesser e Tﬁm

(3) Chris Mooney )

(4) Carter Malkasian (4) TR T ee |
T et
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148. Rajasthan government has launched an 3
PP to 148, iy ,
help college students with digital academjc o e o fesfeer srrefie -

materials. What is the name of this app? Y S TSI o & forg RIS ¥RaR
ﬁwﬂum‘rmwmm'ﬂrﬂwmmm
(1) MyBookLo app & |
(2) MyCoachingLo app \ W) = g Eﬁ %
(3) MyEducationLo app 7 s L imﬁl: Sr R 7
(4) MyClassLo app N ; . B ate il =¥
: | () vy "
149. Who has been granted International Eni Award 149, 3RS TR e 2020 Y FIH'FI- foar Tar
20207 ey 27 _ :
(1) C.N.R. Rao ¢ = | _ (1) Hu9.3R. =19
(2) Satyanarayana Reddy = g K (2) e TR Yl Coa e
(3) Amit Shah A
(4) Ramesh Gandhi (@) By Ty ' "
150. Match list-I with list-II and identify the correct  150. Ffi—I @ -1 9§ e PR sk = Ry
-answer from the code given below — T HE H W [E I BN T B —
List-I iicie |
(A) BhavinaPatel e .. ) R R
(B) Nishad Kumar ; . ® PR ﬂi'ﬂ'\’.: '
(C) Harvinder Singh T L v (©) wfie Rim
(D) Devendra Jhajharia L (D) ¥z sm=iraT -
List-1I I .y 5.
(i) Archery. | () <arsh s s
(i) Javelin throw ' (i) HIeT BP
(iii) Table Tennis (iii) e9a1 f=r
(iv) High jump , (iv) S &7 °
Code - . FE—
{1) A-iii, B-iv, C~i, D-ii ’ . (1) A-iii, B-iv, C—i, D—iie"
(2) A-ii, Boiii, C=i, D-iv (2) A, B-iii, Ci, D-iv
(3) A-i, B~ii, C—iii, D-iv +(3) A, B-ii, C—iii, D—jy
(4) A-iv, B-ii, C-iii, D-i (4) A-iv, B~ii, C-iii, D—j :

‘
L
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87. ‘Base year' in National Income accounting 87 TS 3 SqdrT ardfiE
means — : () Rre af @ @A FT SIS
(1) The year whose prices are being used to o, &, @ ) o B e e o @ :ﬁ

calculate the real GDP (2) Rorg g @1 3 B il
(2) The year whose income is being used to & worr @ forg favam ST gl A
calculate the nominal GDP @) forg af @ M Pl ST
(3) The year whose income is being used to o S @, @Y T o ferg fram wrem €1
calculate the real GDP @) 'atf. T Pl Bl SuEnT  Hifsd
(4) Z‘al}zu]y;ar‘hwhose_pgcgb lgrf: being used to o < 9. @ ToEr P f%—rt{ frar < 2 |
e the nomin P & yrdl T

88. Which of the following department has been  88. o ¥ waq fa@rd el ? R 3R
declmjed as the Nodal Department for the ot 9 fo forT bt
effective  implementation of Sustainable farar a7 87
Development Goals in Rajasthan? ‘ T
(1 Human Resource Development Department (1) 71 G fawrd
(2) Directorate of Industries (2) SevT fAemer™
(3) Chief Minister’s Office 3) = Pt
(4) Planning _Dcpartment : (4) smarerT fevmr

89. What is the proposed plan expenditure in 89 202122 @ VRN — Tl F Rgd W Fa
percentage of total expenditure on electricity in =~ ~ =y H1 ywfdd AT @@ BT GG
Rajasthan’s budget 2021 — 227 & _ o .
g; 13-32% ) 7.42% (1) 14.32% () 7.42%

o 05% (4) 52.19% '(3) 12.05% A4) 52.19%

* Whatis the rank of India in the World Happiness ~ 90. ges iR godaw | WIRe LG
Index 20212 : il » - i e
(1) 139 (2 141 (1)
139 2
(3) 129 ‘ (4) 121 (3) 129 :4; : ;}

91. Aninverted id of bi i
e ;Syft):lign of biomass can be foundin ~ 91. m TH m f?ﬂﬁgﬁﬁq TRRY
(1) Grassland (2) Marine (1) o1 EBT?E"H = .'- & .o
(3) Tundra (4) Forest () g1 ' o

. _ @) g7
92. Trisomy 21 is known as — 92. :
%E?IEHWZI B B | R R o o
(1) Evans syndrome (1.) T Rigm
(2) Edwards syndrome 2) Ty Rie
(3) Gray baby syndrome 3) % ﬁ‘eﬁ Ric
(4) Down Syndl'ome (4) T ﬁ ,'!
93. Which part of human body is infected by the  93. TR Wmﬁ“ﬁ
virus causing Japanese encephalitis? B R0 R oy o PT DR fawryy 7y TR
blood cells NG Pl &7
(2) Lungs 2) B3
(3 Brain @ e
(4) Skin @)
01-% /m =
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o following pie chart, lhe_ perCEI:Ilage
s 116. In 'l;f[-;n of the expenditurc incurred in
istributl o e
3 dlsl:?shingabook is gwcn
g pur Promotion

Printing
Royalty A
v w Transport

Paper
If for a certain quantity of books, the Publ.isher
has to pay < 22,950 for royalty, then what will be
(he amount of printing to be paid for the books?
(2) 246,250

(1) 38,250
(3) 242,250 (4) 36,250

117. In the following diagram, rectangle represents
men, triangle represents educated, circle
represents urban and  square  represents
government employees. Which one of the
following represents educated men who are not

urban?
/-\m\ 7

8

' 2 [6/13

’ 14
1

5 X

29
' @11
Written 5 Ql)ln 2 particylar code, TIGER is
and MERIT is written as
Same code, FROZEN will

pinding

3

an ldales A‘ B and C, A gets
also beats C by
nual B gets 5% more
Mber of voters on

° of the voters on
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' B
I=Tl B A e B g
FT 295028, 3 fﬁﬁv?q q'\rqg:} w”;:

(1) 38,2502 (2) 46,250 %
(3) 42,2502 (4) 36,2503

117 Fret g e o 4, s oot o, foege e
el a2 o PR ¥ Y e
- e gow St wred 7 # P wehiy o

/s\ww -

12 [6/13
9 14
11.

/5 N\
(1) 14 (29
(3) 4 (4) 11

18. 41 Rl e (@1s) Rdw & TIGER al
QDFHS &1 @RE T MERIT?ﬁ’rSHQDLﬁ
e fra Wi 8, @ @ @)
FROZEN &1 g9 8 foreil 9 -~
(1) MEYNQD (2) MDYNQS
(3) MDEZOR @ EQNTOY, 3

119.3WR%A,B@C$¢FT"§H%I&W
509 ot e T B &AL g0l
a3 o g 81 TR Ty g
5% aiftr dre I TN & apen R
e Tl A1 6 T T e
%aﬁﬂﬂm‘fﬂ$gf§m
qor ¢ A e 3 (2) 90,000

(1) ],00,000 /’W 4 -.,.

(3) 81,000
[ Know Mor |




statements, one is labelled

111. Given below ?f:)“:ﬁd the other is labelled as

as Assertion

Reason (R)- . Selecting the right man for the

Assertion (A) : S,-,thl job at the right pay is the
right approachl. - -
- A wrongly selected man is a
e 9 liability. _ .
In the above context, which one of the following
n .

: ct?
(I:)‘-'f’::c is true but ‘R’ is false -
(2) Both ‘A’ and ‘R’ are true but ‘R’ is not
correct explanation of ‘A’
(3) ‘A’ is false but ‘R’ is true
(4) Both ‘A’ and ‘R’ are true and ‘R’ is the
correct explanation of ‘A’ _
112. A statement is followed by four arguments
numbered 1, I, IIT & IV. Choose which of the
argument(s) is/are strong argument(s)? '
Statement : Should the rule of wearing helmet
for both driver and pillion rider
while driving a motor cycle be
enforced strictly? '
Arguments : I No, each individual knows how to
protect his own life and it should
be left to his discretion.

II Yes, it is a rule and rules should

be followed strictly by all.
I Yes, it is a necessity as the head
IS most sensitive/comrol]ing

Organ, it should pe protected by
the helmet, '

IV No, it does not ensure safety of the
head, . :

in the rayi,, 25 . ].' 30 paisy and 25 paisa coins
: ; - If totg) amount in the bag
Mumber of 5 Paisa coins in

111:%—.3'-@,
oy g
WﬁW(R)a}mmﬁw?aﬂv
TR T Ry m|im=r

""’-Qaiiﬁuvfa%qmqmaﬁw,mamwﬁq
W‘a’lfﬁ’hﬂr(ﬁ)aﬁmwﬁ/ﬁ

aﬁvﬁwﬁr?ﬁawa‘%mﬁﬁaﬁ}%m
%aﬁam#$ﬁmwﬁm#m
BRAMT TIfRT? ‘
aao‘:laﬁ,mmﬁﬁma%rrﬂaaa:‘im
DY TR & W 2 09 39 wus R
TR BIg &1 TRy |
I &, 78 faw € ok Prasi & gremr
FeE W W B v ARy
I &, 9% 3maeas & @iy RR iR o1
e e / s o 8
eeie BRI, GRINT BeAT ARy |- _
IV @, w8 RR @ geen gfiRea @
Bl 2|
(1) ¢ 7 Forger T &
(2) Bger 1 iR IV @@ Aorgd &
(3) Bl 11 3R M7 7orga &
(4) e 1 3R 117 7orgq &

j * R

3. g3 ok # 13, 50 99 o 25 WY
g:Q:S%Wﬁ?lﬂﬁQﬁﬁaﬁ.aq
2460T &, a1 Ot # 50 I B Riwwl 21w

- -

(1) 1760 (720

(4) 580

(3) 360 —_
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ich

. In WhiC

g was declared?
(1) 2017
(3) 2018

tch list ‘
& aMniwer from the code given below -

List-I (River)
(A) Godavari
B) Mahanadi
(C) Damodar
(D) Kaveri
List-II (Tributary)
(i) Bhavani
(ii) Penganga
(iii) Seonath
(iv) Barakar
Code -
(1) A-(iv), B-(ii), C-(i), D-(iii)
(2) A-(i), B-(ii), C-(iv), D-(iii)
(3) A-(ii), B-(iii), C-(iv), D-(i)
(4) A-(iii), B-(i), C-(ii), D-(iv)

(2) 2019
(4) 2015

M. What is the share of Rajasthan Government in 71

funding in National Mission on Agriculture
Extension and Technology?

(1) 40 Percent (2) 20 Percent

(3) 50 Percent (4) 30 Percent

Rajasthan will provide irrigation facilities in the
following districts —

(1) Jhalawar and Bhilwara district

(2) Tonk, Bundi and Kota district

(3) Jhalawar, Baran and Kota district

7 (4) Kota, Bundi and Jhalawar district
3.

Budget was merged with the Union Budget in
India?

) Budget 2016 — 17
@) Budget 2019 — ¢
) Budget 2018 - 19

year Rajasthan Solar Energy Policy, g,

_] with list-II and choose the correct  70.

‘Parwan’ multipurpose irrigation project of 72

In which of the following budget, the Railway 73

() 2017

© 2018 o)
-1 B gei— -
R e 14 Sy A
A ()
(A) MeEd |
(B) wEr)
(C) sz
(D) B9
-1 (Wers )
‘(1) warh
(i) YT
(iii) FRramrer
(iv) IRTAR
Eﬁ;{_‘" —

(1) A-(iv), B-(ii), C-(i), D-(iii)

(2) A-(i), B-(ii), C-(iv), D-(iii)

(3) A-(ii), B-(iii), C-(iv), D-(i)

(4) A-(iii), B-(i), C-(ii), D-(iv)

I B TR gd e fee 4§ fas g
H TR PR BT fFwr . 87

(1) 40 wfererd (2) 20 wfcrera

(3) 50 wfereret (4) 30 wfcrera
o @) WaT gt e aRaer
Pt et @1 Riamg gfeT sam el —

(1) 9o 201617
(2) uic 2019-20
(3) e 201819

. ® Budget 2017 _ 15 : (@) awre 201718
O
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o4 With a 16:9 picture aspect ratio, disply,
resolution 1080p means -

(1) 3840 x 1080 pixels
(2) 720 x 1080 pixels
(3) 1920 x 1080 pixels
(4) 1080 x 1080 pixels
g5. The State Remote Sensing Application Centre
working under Department of Science' and
Technology Rajasthan is situated at -
(1) Jodhpur (2) Jhalawar
(3) Ajmer (4) Jaipur
96. How much has the global average temperature
risen in the last century?
(1) 3.0°F (2 34°F
(3) 24°F (4) 1.8°F
97. Compressed Natural Gas (CNG) is mainly -
(1) Methane - (2) Butane
(3) Ethane (4) Propane
98. A quantum dot is -
(1) A fictional nanorobot
(2) A semiconductor nanostructure
(3) Electron microscopy image of nanostructures
smaller than 1 nanometre
(4) Nanoscale analog of radio antennas

%. The ' motto of Defence Research and
Development Organisation is -

‘94,

a5..

96.

97.

98.

99.

) @

16:9 @ fyy

Nl
1080p 7 apef & __
() 3840 x 1089
) 720 x 1080 Rrcrresy
) 1920 x 1080 R
) 1080 x 1080 Rreyeg

ﬁaﬁ\’*ﬁ'\’ﬁrﬂﬁﬁmﬁm
L3 & 3 Frikg
frere TRAIBIE ¥ex Rer & — g

(1) SR 3 2 :
mﬁ ((J)mﬁ
Eé%?ﬂ‘c?fﬁ?rﬁaaaaﬂwmqﬁﬁﬁmﬂqm
(1 3.0°F @ 34°F

(@) 24°F 4) 18°F-

AT wofie T (@) Tem: ¥ -
(1) #e (2) et

(3) v (4) e
Fdicy S & —

(1) vo Sfeqd F-REE

(2) sg=ne® A4 GREA

(3) 1 FEHER ¥ BIA 9 TREARI BT gl
(4) YR T PT AR ATHY

T AR U fadr e a1 aeetara
-‘g_

/

(1) Tejasvinavdhitamastu (1) GeiRaaRiiaRg
(2) Balasya Mulam Vigyanam (2) qorg el o
* (3 Vayam Rakshamah (3) 99 W

(4) Jagratam Aharnisham ‘ (4) e CHENL

100. 1y Stethoscope, the sound of the patient’s 100. welieanra #, 3 ﬁaﬁﬁ ?ﬁ L A
heartbeat reaches the doctor’s ears by - Sfaey & @I T e
(1) Multiple refraction of sound () e & 98 i g
(2) Multiple reflection of sound (2) eafyy & T8 TR &R
() Polarisation of sound (3) eafy @ g1 &1
() Multiple diffraction of sound (4) safyy B g i &N

" Malignant malaria is caused by - 101. g (W) NS
™) Plasmodium malariae (1) wreIfeT Rk A
@ Plasmodium £ alciparum @) e HeiieE 4
@) Plasmodiy vivex (3) AT e 9
(4) Plasrﬂodium Svills (@) W a9

01-% : T T
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57. Doda Betta Peak is situated in - 57. Srei—3gT AT Rerd & —
(1) The Vindhya Range | (1) fmeararet Ao 7
(2) The Satpura Range, (2) wager Ao #
(3) The Nilgiri Hills | (3) Sl EIfeal A
(4) The Anaimalai Hills (8) ar=rres gEireal A
58.

Which among the following is situated on North- ~ 58. = % @& @) StR—al&0l TferaR R Rer
South corridor?

2?
(1) Agra (2) Lucknow (1) 3T () et
(3) Kota (4) Kanpur (3) wrer (4) PR
39 Match list-1 with list-I and choose the correct 59 Fefi—I @ G-I A gAte e
answer from the code given below - g";[ T W‘?ﬁ W& IR AT —
List-I (Site) ‘ -1 () |
(A) Pavagada ' (A) YT
(B) Tattapani . (B) AT
(C) Muppandal C) Husd
(D) Kakrapar | ED; FHTHIAR
. ListII (Energy) . RS Gl (St
(i) Wind @ qa:r_‘n
(i) Solar ' (i) ER
(iii) Geo-thermal ' (iii) Yamdra
(iv) Atomic (iv) 9=E] (3nfoae)
Code - b

(1) A-(i), B-(ii), C-(iii), D-(iv)
(2) A-(ii), B-(iii), C-(i), D-(iv)
(3) A-(iii), B(ii), C-(i), D-(iv) (3) A-(iii), B~(ii), C-(i), D-(iv)
(4) A-(i), B-(iii), C-(ii), D-(iv) (@) A-(i), B-(iii), C-(ii), D-(iv)

60. The following characteristics are of whichriver?  60. forifeiRae Rvwamg iy et &

- Originates from the Aravalis near the Fort. of ~ THPT ST TS e @
Kumbhalgarh. 2 : Fee sRaeh

(1) A-(i), B-(ii), C~(iii), D-(iv)
(2§ A(ii), B-(iii), C-(i), D-(iv)

through the Mewar Plai SISl S 8
- Flows through the Mewar Plain. _ _
- Bedach, Kothari and Morel are its tributaries. _ ?ﬁmﬂﬁ ARAGE R kil Wq??ﬁ:%l
i . PSR! T AN S wErTs A ¥
(1) Mahi (2) Chambal (1) 7y i
(3) Luni ' (4) Banas @ o ¥ o
EiIE: |
61. Which among the following are parts of Thar 1. fiy 3§ § oy ORI & 22
desert? (A) e e -
(A) Godwar Tract B) Tears e th
(B) Shekhawati Tract © Wila'q';l sl
(C) Banas Plain (D) TR FT Ao
(D) Ghaggar Plain ™) (A) T3 @)
(1) (A) and (B) : (@) (B) v (C
(2) (B) and (C) B (o )
(3) (A), (C) and (D) “ v ( )Q?{ (D)
(@) (A), (B) and (D) (A), (B) W& (D)
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p tist-l with Tist-1I and select the coprecy
62. Malc ng code given below -

(A) Lalgarh
Tripura
ig; Gagron Fort
D) Nakoda )
List=1I (Location)
(i) Jhalawar
(ii) Barmer
(iii) Bikaner
(iv) Banswara
Code -
(1) A-(iv), B-(iii), C-(ii), D-(1)
(2) A-(ii), B-(i), C-(iv), D-(iii)
(3) A-(iii), B-(ii), C-(i), D-(iv)
(4) A-(iii), B-(iv), C-(i), D-(ii)

Sundari

_ Ii 63. Match list-I1 with list-II and choose the correct

answer from the code given below -
List-I (Landform)

(A) Aconcagua

(B) Meseta

(C) Serengeti Plains

(D) Gibson desert
List-I1 (Continent)

(i) Australia

(i) Africa

(iii) Europe

(iv) South America

Code -

() AGiv), B-(iii), C-(ii), D-(i)
@) A-(iv), B-ii), C-(iii), D-(i)
) AGii), B~(iv), C-(i), D-(iii)
) Aii), B-(ii), C-(iy), D-(i)

Which among  the following is correctly
Matched?

E:) Mando-ki-pal — Feldspar

(c) Talwara — [ eaq and Zinc

(D; I;:m“”afa ~ Asbestos
ishab — M

M abhdev — Mica

¢ @A - :

_ ar ~f 22

63.

(1) A-(iv), B-(iif), C-(ii), D-Gi)

@) A<(ii), B-(3), C-(iv), D-(iii)

(3) A~(iii), B-(ii), C-(i), D-(iv)

(4) A-(iii), B-(iv), C-(i), D-(ii)

FA-1 Td G-I B G DRI qor H91

e g e F W IR g —
A (IeTpR)

(A) ThIRTLT

®) Wer

(C) AT 5

D) frew sod
-1 (TeTEiY)

(i) smferr .

(ii) 3T

(iii) R

(iv) el

ﬂz\? —

(1) A~(iv), B-(iii), C-(ii), D-(i)

(2) A-(iv), B-(ii), C-(iii), D-()

(3) A-(ii); B-(iv), C-(0), D-(Gi)

(4) A-(iii), B-(ii), C-(iv), D-(1)

(A) TR — BT
el — e gd S




47. .
Assertion (A) : The Duty of Comptroller and

49.

Auditor General i not merely to
ensure  the legality of
expenditure but . also its
propriety.

Reason (R) : He has to uphold the Constitution
and the Laws of Parliament in the
field of financial administration.

(1) Both (A) and (R) are true but (R) is not a

correct explanation of (A)

(2) (A) is false but (R) is true

(3) Both (A) and (R) are true and (R) is the

correct explanation of (A)

(4) (A) is true but (R) is false
Match list-I with list-II and identify the correct
answer from the code given below -

List-I .

Constituent Assembly Committee
(A) Fundamental Rights
(B) Steering

. (C) Union powers

(D) Drafting

List-IT

Chairman
(i) B.R. Ambedkar
(ii) Jawahar Lal Nehru
(iii) K. M. Munshi  ~
(iv) Sardar Patel
Code -
(1) A-(iii), B-(iv), C-(ii), D-(i)
(2) A-(ii), B-(iii), C-(iv), D-(1)
(3) A-(iv), B-(iii), C-(ii), D-(i)
(4) A-(ii), B-(iv), C-(iii), D-(i)
Who among the following is
appointed as the Chairperson of Rajasthan SFate

eligible to be

' Human Rights Commission?

(1) Prominent Social Activist
(2) Director General of Police Level Officer

" (3) Chief Secretary Level Officer

(4) Chief Justice of High Court

01-%

7. o (A): Fri= Ud HETerl TETd ot gty
qmmiﬁmﬂﬁﬁﬂﬂm
2 aifig aitferea o 81
HRYT (R): I g 9o & 87 9 Hfiyy
3R GG B BEAT BT T T
gl
(1) (A) 3R (R) 2T W& & g (R), (A) &
e A T T
(2) (A) Teld & A (R) HET 2
(3) (A) 3R (R) < W& & @ (R), (A) @
el T ®
(4) (A) W) & Afp (R) Tad &

48. i1 &1 GA-11 | fiem aiforg &R iy Ry

Y HE A | WE IR BT T DINY —

-1
- e awr afAf

(A) & IeHR

(B) =1 HeETe

(C) Hu wfaw

(D) ureY
K5 G L
STETE

(i) . IR ESHY

(i) STATERT A%~

(iii) &. TH. A

(iv) TRER U

R —

(1) A-(iii), B-(iv), C-(ii), D-(i)

(® A-(ii), B-(iii), C-(iv), D-(i)«~

(3) A-(iv), B-(iii), C-(ii), D-(i)

(4) A-(ii), B-(iv), C-(iii), D-(i) . :

49. f=ifhe § | DI ORI ISy A IRPR

T & Irene 9T W Fgfaa &g ifdga 87

(1) g | A4 AfdR
(2)W.ﬁﬁwmmm
'(3)§mﬂﬁmwweﬁﬁﬂﬁ

(4) Sea TATCR PTG AR
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20. i
Consider the following Statements pertaining to

1

O1="

the Ahar Civilizatiop -
(A) Tl?e natives of Ahar knew copper smelting.
(B) Rice was unknown to them,
(©) Metal work was one of the means of
€conomy of the Ahar.
(D) 1‘I:Z‘-lack = Red coloured pottery have been
ound here, on which generally white

coloured geometrical designs have been
carved.

Choose the correct option -

(M A, Cang D are correct
) Cand D are correct

(3) A and B are correct

Movement and Was sentenced to Jaj] -
(1) Rama Devj

(2) Ratan Shashtri

(3) Kishori Devyi

(4) Anjana Devi Chaudhary

* Match list-I with list-IT and choose the correct |

answer from the code given below -
List-
Tirthankara
(A) Parshvanath
(B) Adinath
(C) Mahaveer
(D) Shantinath
List-II ,
(Their cognition)
(i) Bull
(ii) Lion
(iii) Snake
(iv) Deer
Code -
(1) A-(ii), B-(iii), C-(iv), D-(i)
(2) A-(iv), B-(iii), C-(ii), D-(i)
(3) A-(i), B-(ii), C-(iii), D-(iv)
(4) A-(iii), B-(i), C-(ii), D-(iv)

20.

(A)mg_@miﬂamwmﬂﬁeil

(B) 3 v et & TR T o

21,

22,

(@) A-(iii), B-(i), C-(ii), D-(iv)

G-t i o A &
TEf & B — W T AT Py ¢
e OY GHEIG: 9%e T | AR anq,-r?;;,
I TE B -
we! ey a1 9a7 Py —
(MACTWDIE &
@ Cy D wd &
(B)Avd Buer &
(4 A,BTd C @&l &
SH FifeN) AR BT AW FaEd R
fasiiferar fram am=ier & wrr R sk E
ﬁwmwwwsoa}m_sﬂv
1932@%@%@%%&%%@1
S TS —
(1) w7 G
(2) X et
@) fHard 4
(4) 35T 24 ey
-1 VA -1 3 g @i qor 49
2 ™ 5e § & vl e gw —
-1
(ef)
(A) TTgd=rer
(B) anfe=rer
(C) HerdR
(D) wmiferrer
s i
i)
(i)
(ii) 1%?:
(iii) |¢
(iv) fevor
‘qg‘?‘ s
(1) A-(ii), B-(ii), C-(iv), D-(i)
(2) A-(iv), B~(iii), C-(ii), D-(i)
(3) A-(i), B~(ii), C~(iii), D-(iv)
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' i d traditions
‘< ‘Agnau in social customs an

15. What 18 Aan

of Rajasthan?

(1) After marriage sen g br
house for the second time

(2) Worship of Jal Jhulni Ekadashi
~ (3) Well worship
(4) Going to see the bridegroom’s wedding place
by bride’s family
16. The Saints named Bakhnaji, Sant Das Ji,
| Jagannath Das and Madho Das were associated
with which of the following Sect?
(1) Ramsnehi Sect (2) Dadu Panth
'(3) Jasnathi Sect (4) Laldasi Sect

17: Match list-I with list-II and choose the correct
answer from the code given below -
List-I
(A) Howrah Conspiracy case
(B) Lahore Conspiracy case
(C) Delhi Conspiracy case
(D) Alipore Conspiracy case
List-1I
(i) Master Ami Chand (Amir Chand)
(ii)  Arvind Ghosh
(iii) Jatindranath Mukherjee
(iv) Rajguru
Code -
(1) A-Gii), B-(iii), C-(iv), D-(i)
(2) A-(iii), B-(iv), C-(i), D-(ii)
@) A-(i), B-(ii), C-(iii), D-(iv)
(@) A-(iv), B-(iii), C-(ii), D-(i)
8. When and with whose efforts was Indian
Institute of Science established in Bangalore?

1) 1911, Meghnad Saha '
(2) 1930, 3. C. Bose

3) 1909, Jamshed ji Tata
@) 1917, Prafull Chand Rai

ding bride to her in-law’s

19, A
Where and when was the newspaper ‘Mazharul

' 1) #RA3%,
(2) Ajmer, 1840 i3 1856
(& Udaipur, 13—;9/_,’/_’/,,/’»'—"’///——G''5

= Saroor’ published?

) Bharatpur, 1849

® Jaipur, 1856
\
01-%
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15.
5 Wiﬁ%‘wﬁ‘mmﬁ

(1)
fmmm P TR T W W i
(4)$_§ﬂ?qﬁmammﬁmmw
Skl
16. W' F Gﬁ, ‘ » aﬂ-\,
;quﬁ w:m ey Frfeiad % ¥ few wrem
AT AT
() T wEE  (2) 2 g
(3) STl WHRE - (4) AT g
17. -1 W& G- &) gAferd AR aer 91
A ™ e % & ¥ ww g -
-1
(A) TTaST 94T B
' (B) WIER YSUF 9
(C) facelt vsad Y
(D) STy v T ¥
.yl
() ARER e (3riRET)
(i) aRfa=< =99
(iii) SRS il
(iv) NI
3‘2\6 b .
(1) A-(ii), B-(iii), C-(iv), D-(i)
(2) A-(iii), B-(iv), C-(0); D-(ii)
(3) A-(i), B=(ii): C-(iii), D-(iv)

4 'A-(iv), B-(iii), e;;ii). D-(i)ﬁﬂ



1. Which of
the followj p
Ruma Devij js not trsg_?mg Statement regarding

(1) She wag felicita i
ICitated with ‘Narj i ;
- ]Sji tl?e President of India ina;O?ISI.ak SR
= Sh: 1sp ll(nm;n in the field of Handicrafts
ayed a major role ; idi
i er;ployment to Thoti’sands oft:‘ “:,I:)m[;;gvxdmg
: Kﬁ Was brought-up in the village Jasra
etari). -
Match list- with list-IT
-1 and choose th
answer from the code given below - S
List—I “
(Folk Musical Instru )
(A) Bhapang e :
(B) Nad
©)

Algoza
(D)

Kharta]
(Famous Music Artist)
@ S 2

12,

List—IT

adiq Khan
(i) Zahoor Khan
(iii) Karna Bheel
(iv) Ramnath Choudhary
Code s
(1) A-(iv), B-(iii), C-(ii), D-(i)
(2) A-(ii), B-(iii), C-(iv), D-(i)
(3) A-(ii). B-(i), C-(iii), D-(iv)
(4) A-(i), B-(ii), C-(iii), D-(iv)

13. Where is the Rajasthani Bhasha, Sahitya and

Sanskriti Academy located?
(1) Jodhpur (2) Bikaner
(3) Jaipur (4) Udaipur -
14. Match list-I with list-II and choose the correct
answer from the code given below -
List-I .
The Battle of Gagron
The Battle of Sarangpur
The Battle of Summel
(D) The Battle of Saheba
List-II
(i) 1519 AD
(ii) 1544 AD
(iii) 1437 AD
(iv) 1541-42 AD
COde -
(1) A-(i), B-(iii), C-(ii), D-(iv)
(2) A-(iv), B-(iii), C-(ii), D-(i)
(3) A-(ii), B-(iii), C-(iv), D-(i) ‘
L (@) A-(i), B-(ii), C-(iii). D-(iv)

(A)
B)
©

11.

12,

13.

14,

Vacancies and updates on one click

m?ﬁa’a‘aﬁﬁﬁﬁﬁﬁaﬁﬂmmm;ﬁ

TE 27

(1) 32 Ra & U gRT 2018 A T 9ify
PR W G g 7|

(2) 2 gy @ &5 & AT o 2

(3) S BRI AfRTa ®I ISR ggrar
7 3 e A |

(@) q STRIQR (QTS)) Tifg & gell — ad) |

-1 vq II &1 gafera SR dor
e T ge F 1 9E SR gfg — g
—I
CICKES
(A) w9
(B) T8
(C) 3rerirar
(D) Gsare
5 G L
HATHIR
(i) @ df
(i) SR @f
(iii) T et
(iv) T=TRr ey
He —

(1) A-(iv), B-(iii), C-(ii), D-(i)
(2) A(ii), B~(iii), C-(iv), D-(i)
(3) A~(ii), B-(i), C~(iii), D-(iv)
) A~(i), B~(i), C-(i), D-(iv)
RISTRIT 9791, Wity v & "
3rafer 87 VT phr srpret
(1) SigR @) Sy
(3) SR (4) SeagR
-1 Td g1 Py G B 4
fed T ome F ¥ wé ww g - o

5 G
(A) TRV &7 gg
(B) WNTR &I Ig
(C) o &1 g5
(D) <TEdl &1 g

-1
(i) 1519%.
(i) 1544%.
(iii) 14373.
(iv) 1541-427%.
Re — _
(1) A-(i), B-(iii), C-(ii), D-(iv)
(2) A-(iv), B~(iii), C-(ii), D-(i)
(3) A<(ii), B-(iii), C-(iv), D-(i)
(4) A-(i), B-(ii), C-(iii), D-(iv)
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23. The Rajamundri Social Reform Association

encourage widow re-marriage was founded i

1871 by -
(1) Veeresalingam
(2) K. T. Telang
(3) Gopalachariar
_ (4) K. Ramakrishan Pillai

24. During the Quit India Movement, a gi
, a girl named
Kan;.xk]ata Baruz! led a public procession and
def¥1ng the police, tried to enter the police
station but was shot dead. This incident took

placeat -
(1) Korapur (2) Sonitpur
(3) Gohpur (4) Midnapur

25. Match list-I with list-II and choose the correct
answer from the code given below -
List-I

(A) Vrihi
(B) Mudga
(C) Yava
(D) Ikshu

' List-11
(i) Sugarcane
(i) Rice
(iii) Mung bean .
(iv) Millet
Code -
(1) A(iii), B-(iv), C-(i), D-(ii)
(2) A-(i), B-(ii), C-(iii), D-(iv)
(3) A-(iv), B-(iii), C-(ii), D-(i)
(@) A-(ii), B-(iii), C-(iv), D-(i)

26. Who among the following Judges of Rajasthan
High Court has held the office of State Minister
in Government of Rajasthan?

(1) Justice Yad Ram Meena

(2) Justice Suraj Narayan Didwania
(3) Justice Farooq Hassan

(4) Justice Mohammad Yamin

27. The case of Vishakha and others Vs. State of
Rajasthan and others is related to -

(1) Transfer policy for women

(2) Prevention of the practice of dowry prevalent
in the society . .

(3) Prevention of sexual harassment of women at

work place
(4) Maternity leave in respect of working women

) . < frogs
2. R Brey &R
i ilEIl%aﬁ_\’H,?}ﬂmw

ﬁ?ﬁ?ﬂﬁ%ﬂ;ﬁqzﬁqﬁg . '5'““1'
WA | Mell @S | T8 wer g
(1) PRI @) ®I o 87

(4) freemgR

25. W1 w4 -1 @) gt @R
—1

(A)
(B) J&T
(C) g -
(D) =g
-1
(i) =T
(i) e
(iii) |
(iv)
E'z‘? 7T
(1) A-(iii), B-(iv), C-(i), D-(ii)
(2) A-(i), B-(ii), C-(iii), D-(iv)
(3) A-(iv), B-(iii), C(ii), D-(i)
(4) A-(ii), B-(iiD), C-(iv, D-()

26. roreRi o e @ Fied =gramdrer #
J B TR WER ¥ Il @ 0§ W
I W@ 87
(1) SiRes AExE |
(2) wifRed JRol TRET
(3) wiRkeH wred ga1
(4) wiRkew AEE AFH

27. RremaT g 3 T YOTRT X9 7 3 TR
Hafa & —

(1) wfEemelt @ qaTEar A A
mwﬁma%awa‘:ﬁwaﬁmm

£l

(3) priwe W AReRl & A I @l
ApUm A

(&) TSRt AR B A FEH §

01-%
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32. According to the ‘Rules of Procedure and
Conduct of Business in Rajasthan Legislative
Assembly’, which of the fo]lowing department’s
estimates do not comes under the control o.f
Estimates Committee ‘A’?

(1) Finance Department

(2) Education Department

(3) Public Works Department
(4) Home Department

33, Under Article 103 of the Constitution of India,
the President shall obtain the opinion of which
of the following authority before giving any
decision on any question regarding the

* disqualification t_:f the members of the Lok
Sabha?
(1) Attorney General
(2) Election Commission
(3) Supreme Court
(4) Speaker of the Lok Sabha

34. Which of the following is not true about the

objectives of the Right to Information Act?

(1) To empower citizens

(2) To empower the women and weaker sections
of the society

(3) To make our democracy work for the people
in real sense

(4) To promote transparency and accountability
in the working of the government

Identify ‘the incorrect feature of the recently

declared ‘UDAN’ scheme of the Government of
Rajasthan -

() The scheme aims to make women aware
about better hiealth and individual physical
hygiene

(%) Under this scheme all women in the state will

get free sanitary napkins from 19"
November, 2021 '

Thg scheme will come into operation from
19" November, 2021 -

) For effective implementation of the scheme

diBr?nd Ambassadors at state level and 1 at
%, Ace strict level will be engaged

u:i“%'ng to the provisions of the Rajasthan
mo':pa' Act, 2009, maximum number of
OVer:mthat.can be nominated by the State

() g €ntin Municipal Council is -

®) 19 (26

32.

33.

34.

35.

36.

Wﬁuﬁﬂmaémmmﬁmq

mﬁ;‘*’f'*mﬁaﬁmwma
HIFhe™, Uiadpes wfRfy @

o = @2 A

() fa=r feparr

(2) R favmr

(3) wrdwifares. fmfor favmr

@ & frm

RA @ WfET @ g 103 B aed, e

AHET Feli Y Pl ¥ ddim fed §

T W B o 3 ¥ g Preifea ¥ @

et </ orm? ;

(1) me=IrETs

(2) gl s

(3) S=aH ~ETeY

(4) ArmarEger

O @ APeR AR am & Seed & Hdy

R § 9§ i T8 781 27

(1) AR&T B \IT HRAT ¥

(2) TS Y AfRenell Td HHGAR qadl () Bl
eI PR B g HH AT

(3) B8R oNpd= BT VT, g9 Alfs 98 drid
¥ o @ forg M ‘

@ WHR B GG A URERiaT T

TR WReR ERT 3l g1er ¥, Biffa ‘S’

T @ e e fafed @iy —

(1) 39 Ao o1 Sexy ARl BN dE
SFTed T & B

(2) 3 2T B st TR @ T A
zfm‘ragaw,zozmaﬁtﬁﬁhﬁﬂﬁzw
(3) 78 Ao 19 FARR, 2021 ¥ AL B
(4) T @& wrr fharags & fog o0 wWw
R 3y &R forer «iR W i@ 98
1T WA :
/ISR TRYMT SfRRH, 2009 & ST
@ gER, WS WRHR ERT TR uReq F
i frae afy M fifde 5 i \ed

87
(1) 8 (26
(3) 10 (4) 12
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37. Consider the following statements regarding
State Election Commission, Rajasthan -
(i) The State Election Commission, Rajasthan

was constituted in December, 1994,
(ii) It has a Secretary who is also the Chief
Electoral Officer for the state.
Code :
(1) Only (i) is correct
(2) Only (ii) is correct
(3) Both (i) and (ii) are correct
(4) Neither (i) nor (ii) is correct
38. In which of the fO“OWing ycal’. for the first time
Rajasthan Administrative Service Officers were
posted as District Collector?
(1) 2009 (2) 2013
(3) 2021 (4) 2018

33. Which one of the following is not basic element
of the citizen charter?
(1) To expect any public record
(2) Provision for the inspection of the agency’s
work
(3) Promotion of various methods to get benefit
from the services available
(4) Description of services being provided by
department or the agency
40. Rajasthan Public Service Commission presents

its annual report to -

(1) Chairperson of the Vidhan Sabha
(2) The Governor of Rajasthan
(3).Chief Secretory

(4) The President of India

41. Which of the following statement about
resolution adopted by a State Legislative
Assembly under Article 169 of the Constimnzon
of India for the abolition of the State Legislative

Council is correct? '
(1) It does not impose an obligation on the
Governor to reserve resolution for the

consideration of the President.
(2) It does impose an obligation on the Gcw_'emo;
to reserve resolution for the consideration 0

the President. .
(3) It does impose an obligation on the Union
* Government to take action for inmtiating
legislation in Parliament. _
(4) Tt does not impose an obligation on the Union
Government to take action for initiating
legislative in Parliament.

37. 3oy Prafos o, IO W Haftg
fr=ifra @Al W RER @R —
() ¥ou fafga mae, ISR H ey
W-""i‘ﬁﬁ%ﬁ‘#m
i qh XTI @1
R NEARSP N S s

a‘g_',’:
(1) Bad (i) |a 2
(2) Saa (i) TE B
(3) (i) 3R (i) TAT WEI B
(@) = ar (i) 3R 1A (i) A F
38. o Wl a1 AR B vgeh g

fRreT Beldex & BY H TSR Preifpg 3
forg ad & TS 2f1? 9
(1) 2009 (2) 2013

(3) 2021 (4) 2018

39. f=faRaa d ¥ ARE afeR

e AU Ak

(1) 5l e e & apderr

(2) a1fexer & &1 & Feor a1 yreuE

(3) Hawll FT AN SN @ forv RAfe R
B gAIRT BT -

(4) T 3terar AMHRUT ERT USH @ W X&)
Jarait &1 fdaver

40-memmmﬁmﬁ'

yferde yRgd el © —
(1) faemeramT araer & |we
(2) IoTuTel & A
(3) e |fya & an
(8) Irszufer & e
M. yoq Ay IReg @ Swed @ fog I
Rt ERT GREE @ AT 169 B Jid

G@er @ an A Preifed d § B

(3) B TRPR T A .
e e 4 Ry Pt 8 PR
ﬁwwﬁgmmlailllﬂ

prdardl | e

01-%
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.ch of the following Chief Ministers of
50. ;‘:;?:;mm have not been the member of | o)
Sabha? ;
(A) Hari Dev Joshi
(B) Bhairon Singh Shekhawat

(C) Tika Ram Paliwal
(D) Barkatullah. Khan
Correct answer 18 -
(1) (A), (B), (C) and (D)
(2) Only (A) and (B)
(3) Only (A), (B) and (D)
(4) Only (B), (C) and (D) ,
51. In ‘which among the following district, sub-
tropical hilly forests are found? '
(1) Banswara (2) Jhalawar

(3) Udaipur (4) Sirohi

52. Gogelav Conservation Reserve is situated in
which district?
(1) Jalore (2) Churu
(3) Nagaur (4) Pali

53. Which among the following is correctly
matched? = 3
(1) Iron — Koderma
(2) Manganese — Bailadila
(3) Mica — Talcher
(4) Bauxite — Lohardaga :

54. The second highest percentage of Scheduled
tribe population in Rajasthan is found in (2011)-
(1) Dausa District
(2) Banswara District
(3) Dungarpur District
(4) Pratapgarh District

85.

matched?

(1) Anshan — Iron and Steel

(2) Detroit — Automobile

(3) Yokohama — Ship Building

() Gornaya Shoria — Cotton Textile -
‘Green Energy Corridor’ will pass through
which of the following districts of Rajasthan?
(1) Udaipur, Bhilwara, J aipur
(2) Kota, Ajmer, Jodhpur

@) Jodhpur, Jaipur, Alwar

@) Ajmer, Chittorgarh, Bikaner

e
01-%

56.

Which one of the following is not correctly

51

52

© (1) SER

- 53

55.

(BY R RizIrars.

(©) EFRm urefare -
(D) Rgeeire @~
TE R 2 —

() (A), (B), (C) =ik (D)
2) _zhaa (A) 3R (B)

() Bt (A), (B) aik (D)
(4) e (B), (C) air (D)

- H A v Rt o, su—owr wid 99
mre
(1) aieaTST (2) reTmars:

(3) ITAR @) RR&@-
- TR e & o el Rerar 2

(2) 7%
(3) 7R (4) wrchy

- o 4 9 e g 27

(1) Srer — Bl

(2) FIST — SREIar

(3) e — AR

(4) dfaTEe — RS

. IS A S e & e
R 1R aaiee wfoera @ (2011) -

(1) < el o

(2)mw§ﬁﬁ

(3) YRR : '

a) g forel
%ﬁﬁﬁm@ﬁﬁﬁﬁmﬁﬁ
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28.

Which one of the following said, “A

- Constitution, like a machine, is a lifeless thing?

29,

30.

a1.

It acquires life because of the men who control
it and India needs today nothing more than a set
of honest men who will have the interest of the
country before them?

(1) Mahatma Gandhj

(2) Dr. Rajendra Prasad

(3) Jawahar Lal Nehry

(4) Dr. B. R. Ambedkar

Fundamental Duties were incorporated in the
Constitution on the recommendation of -

(1) Swaran Singh Committee

(2) Administrative Reforms Commission

(3) Santhanam Committee

(4) Shah Commission

Which feature of Chief Minister Chiranjeevi

Health Insurance Scheme js incorrect?

(1) It was started on May 1, 2021

(2) Under the scheme for different ailments 1576
types of packages and procedures will be
available,

(3) Under this scheme an insurance cover of
¥4.50 Lakhs is payable per year per family
for serious ailments.

(4) The disease for which a patient is admitted to
a hospital, 5 days prior to that and 10 days
after the discharge from the hospital all
expenditure on investigation, medicines and
consultation fee in the hospital will be
included in the package.

Which of the following statements are correct

about Lokayukta in Rajasthan?

(A) He is appointed by the Governor and is
responsible to the Legislative Assem bly.

(B) His jurisdiction spans over Ministers,
members of State Legislative Assembly and
higher Civil Servants.

(C) He considers the cases of corruption and
mal-administration. :

(D) His job is confined to investigate allegations
and not grievances.

Code :

(1) (A), (B) and (C)

() (A), (B), (C) and (D)

(3) (A) and (C)

(4) (A) and (D)

28.

30.

31.

famfoRad & & e BeT o1, "% GREE e

7T B e I9H A 2, T T AT S

B © il 3BT AT ¥ & uRd a9

@mmﬁwamm

Ysfed & @Ak 87 '

(1) wgremr mieft

() Sf. 3o A

(3) SarER e Ew

(@) €. @, IR, IsHY

WuE 4 99 wdal & e ReRy w®

wfsfer forar am, 98 € —

(1) @i g afafy

(2) werrafies guR amanr

(3) Hor afify

(4) vz 3manT

faRryar e &7

(1) gHa! goorma 1 w8, 2021 ¥ & 7F|

(@ Fer & ofafa R SRl & 1576
TPR & Yoo vd UriiorRt Suerer # |

G 3w AT B afa Wik SRa) |
4.50 @ X B R BT G Bav ghay
gft aRar 3 2

(@Hﬁqﬁméﬁrﬁiﬁﬁ‘-ﬂqwﬁq‘cﬁa’m
%,Wsﬁ-—rqﬁw%wmiahoﬁa
mwmﬁmﬁaﬁﬁm‘h’tﬂmw
W UF BT owm Y @ oy L
[ftafera 2

Wﬁmﬁﬁaﬁmﬁrﬁﬁ

BT | YT | &7

(A) 98 TSgUTA g a3
nﬁramamm??ﬁ

(B) SHST &RGR 4R, o0 R &
WWWWWW%%I

(C) 98 ¥=MER V4 §-UNNT & wqmef @
AR &xar 21 - '

m)mmm?ﬁﬁiﬁm&ﬂﬁf
Rl ot | : -

sie:

(1) (A),(B) W& (C)

(2) (A), (B), (C) T (D)
(3) (A) 7@ (C)

(4) (A) Td (D)

01-%
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65. Accordin

66.

67.

& 10 2011 census, the districts having

highe
&hest rura] apq urban sex ratio in Rajasthan

are -
" Rl.ll'al Sex Ratio - Urban Sex Ratio
(A) Rajsamang - Banswara

Dungarpur - T,
(C) Pali - Chypy s

(D) Ja]ore - Nagaur
M D ) B
@) c @ A

Match list-1 with 1
- list-II and choose the
answer from the code given below - et

List—I (Distri t)
(A) Udaipur -
(B) Nagaur
(C) Bhilwara
(D) Kota
List-II (Maain Industry)

(1) ‘White cement

(ii) Chemical

(iii) Textile

(iv) Lead and Zinc

Code -

(1) A-(iv), B-(i), C-(iii), D-(ii)
(2) A-(i), B-(ii), C-(iv), D-(iii)
(3) A-(iv), B-(ii), C-(i), D-(iii)
(4) A-(iii), B-(i), C-(ii), D-(iv)
Which among the following is not correctly
matched?

: Lake - Country
(A) Balkhash — Kazakhstan

(B) Titicaca — Bolivia-Peru
(C) Erie — USA-Canada
(D) Baikal — Ukraine

(D (2) B
-B)A @c
As per Koeppen’s climate classification, which

among the following are correctly matched?

(A) Cwg - Bharatpur
(B) Bwhw - Barmer
(C) Bshw - Ganganagar
(D) Aw - Dungarpur
(1) (B) and ()

(2) (A), (C) and (D)
(3) (B). (C) and (D)
(4) (A) and (D)

65.

2011 B TV B SR, RIS @ iy
ﬁ i N i
é?i\‘ﬂﬁ’f*‘fuﬁvraﬁv:rﬁuﬁvmgqram‘rﬁ}a

- mﬁm—mﬁu%@_ﬁ

- (A) INTAT — grEareT

66.

67.

(B) §RPR — i

(C) el — g%

(D) SITeiR — JriR

(MD (2) B

®)c 4) A

Y- T -1 3 e AR

R 0 e & & wér IR gy — S
IS

(A) SEIR

(B) AR

(C) Hearer
=11 (g 9eir)
(i) 9%T d=
(i) v
(i) a1 Qe
(iv) 9T U9 W
33?:.' -_—
(@) A-(i), B~(ii), C-(iv), D-(iii)
(3) A-(iv), B-(ii), C-(i), D-(iii)

(4) A-(iii), B-(i), C-(ii), D-(iv)

= 4 P wd gl w8 &
e — 3

(A) I (QTHIRT) — PHorET
(B) fedi&mat — arcifmras

(C) 39 — YTAL.-FTST

(D) IFTeT — g

(D (2B

(3) A 4 C
- DI & Solary TP & Igar e F 9§
BT | Fal gAford 87

(A) Cwg - HIRAYR

(B) Bwhw - -
(C)Bshw-_"f"WW

' (D) Aw - §RTX

(1) B) W@ (C)

) (A), (C)TE (D)
(3).B), (C) 7@ (D)

#HMwEo
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of the Rajasthan Panchayati Raj

b Szcn]:}; peen amended to replace the
A l‘:'fm «Gram Vikas Adhikari’ in place of
Bxpl'cSSl :
‘ Vﬂk T
5 * (2) 88
g: % 4) 89
ir mentioning the
tify the correct paitr ! '
L [ggcti}\(!c Principles of State Policy in the
Constitution of India -

(1) Organisation of village Panchayat -

Article 41
(2) Equal justice and free legal aid — Article 42

(3) Organisation of agriculture and animal
husbandry — Article 43

(4) That there is equal pay for equal work for
both men and women — Article 39

4. Which Constitutional Amendment Act dealing
with  National  Judicial  Appointments
Commission, was declared unconstitutional by
the Constitution Bench of the Supreme Court?
(1) 97" Constitutional Amendment Act
(2) 99" Constitutional Amendment Act
(3) 100™ Constitutional Amendment Act
(4) 98™ Constitutional Amendment Act

. Gurumukh Nihal Singh was appointed as the
first Governor of Rajasthan on -

(12" November, 1956

(2) 26" October, 1956 &
) 1 November, 1956

(4) 25t October, 1956

46. -
';'he Correct sequence of Chief Justice of
Upreme Court of India is -

MK Balakrishanan,
" HL. Datty

) Ran; 3
( Ranjan Gogoi, N.V. Raman, Deepak Mishra

HL. Dattu, TS. Thakur, Jagdish Singh
ehar

(4 . '
BP, Sinha, PB, Gajendragadkar, S.R. Das

S.H. Kapadia,

42. qrorer e < S, 1994 P

43.

45,

46.

YR BT R B T GaF B I T
R aReRy sfaf @ gfieetad

T 87
(1) 91 (2) 88
(3) 90 - (4) 89

IRT & wfeu ¥ aftfq iy Fewe Tl
AT g ggenfg —

(UWWI’&HTWW—&@T:@T{M

(2) W < IR Frges e gsmar -
WY 42

(3) P IR TG BT HTSH — SFeT 43

(4) gost 3R Rt 2T a1 wWe Bt @ forg
A 90 8 — 3T 39

- S e [l smam & w@9fa a9 @

Hfem s s Bt oy fear ar?
(1) 974t W e sfRm '
(2) 994t e e rfRfaw

(3) 1004t T Heer s

(4) o84t wfaem wehe fifas

T fgTer RiE DI oI T HoH Jedrd
fagaa fobar T o —

(1) 2 =R, 1956 &I

(2) 26 racER, 1956 BT

(3) 1 7awR, 1956 P

(4) 25 S, 1956 P

A FIE — ,
(1) B .oft. e, TaTE prafedr, Ta.0.59

(3) wage, <9, T I e
(8) ). R gl mﬂsﬁw 7
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g0. In

B1.

8 According to Rajasthan budget 2021 — 22, in 82 IETIF aoi€ 2021 -22 & . frew
which district the Fintech Digital University will feforee favafderem & wme g R o
be established? BRT? : . - |
(1) Jaipur (2) Jodhpur (1) SR (2) TR
(3) Sikar (4) Ajmer (3) AR (8) 3R

8. Which of the following district is not a part of 83 fr=iferiad # & Pr—r forem e i e
‘Desert Triangle’ in Rajasthan? fepior &7 AT T &7
(1) Barmer (2) Jodhpur (1) Fre™ R (2) SR
(3) Bikaner (4) Jaisalmer (3) frdTR (4) SR

8. When was the “PM Kisan Maandhan Yojana” 84 dR A Rraml @ deE @ % 9
launched for the purpose of pension to small and Tr';?)ﬁ'ﬂﬁ RPeT A AT 39 I B
marginal farmers? _ ! . ' P
(1) 25 August, 2019 (2) 12 September, 2019 (1) 25 o, 2019 312 m i
(3) 15 August, 2020 - (4) 26 January, 2020 (3) 15 amTe, 2020 (426 S S0

BS. : o ' & g, 2020 - 21 # ReR
As per the advance estimates, per capita income 85 i e @ T @
of Rajasthan at constant prices (2011 — 12) for Pl W (2011 - 1".) -
l:Ie year 2020 - 21 is — (ar;] EQE? z 2) 79,7223
(1%97,227 (2) 379,722 3 i 2972 (4)75.527%

. D E7287 (4) 275,527 472, s < g o T
Which of the following is responsible for 86 P % 2oy prreeer 39 SRSl
implementation of “Ayushman Bharat Pradhan o AR
Mantri Jan Aarogya Yojana”? &? R oy
(1) National Health Authority (1 T L CEED
3) World Health Organisation @ fora ¥
i:: Niti Aayog (3) fer ST — L eIt

Insurance Regulatory and Development (4) ARATA arl
—__ Authority of India ///

0l-%

case of critical illness health insurance

d per family per year under the scheme
C:;lf:l?m:n Bharat Mahatma Gandhi Rajasthan
Ayus

gwasthaya Bima Yojana is —

3) Z3 Lakhs (4) X 3.50 Lakhs
which of the following statement is wrong about

Rashtriya Gram Swaraj Abhiyaan in Rajasthan?

(1) Panchayat Shashaktikaran Abhiyaan was
renamed  as Rashtriya Gram  Swaraj
Abhiyaan.

(2) Focus of the scheme is on capacity building
of elected representatives and functionaries.

(3) Slogan of the scheme is ‘Aapni Yojana
Aapno Vikas’.

(4) The funding pattern of this scheme is to be
shared between Central and State Govt. in the
ratio of 60:40.

B1. IR # g e
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Vacancies and updates on one click

(1) 450 @@ T

(2) 4.00
(3) 3erE raz

@) 350 g 2

! . TR 3P
¥ frfefaa 3§ & d—ar pom ng?ﬁ?@i

() varga wofdwaor afam @ & s
gﬂﬂlﬂmmmmﬁrmmw
@z A5 A Y am SRR o
(3)Wﬁﬁ$mﬁaﬁam§| *

& ASHA F ART R 3ol :
e 21 L
(4) 39 I F o O & R o g v
ﬁ?ﬁﬁaﬁo:mzﬁa@mﬁw
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102. Kadaknath is a breed of -
(1) Fowl (2) Buffalo

(3) Goat (4) Bull

103. Full form of MOEMS is -
(1) Micro-Opto-Electro-Mechanical-Systems
(2) Mega Operations Electronic Media Software
(3) Micro-Optic Electro-Mechanical Source
(4) Micro-Optic Electronic Media Source

104. Which of the following vitamins are fat soluble?

(1) Bizand D (2) Cand E
() AandC (4) Aand D
105. Solar observatory in Rajasthan is situated at -
(1) Ajmer (2) Jaipur
3 Udaipur (4) Jodhpur
106. Which of the following is not a Zoonotic
disease?
(1) Rabies
(2) Mucormycosis
(3) SARS
(4) Plague A
107. The state flower of Rajasthan is -
(1) Kachnar (2) Nag Kesar
(3) Rohida (4) Sunflower

108. According to India State of Forest Report 2019,
in which one of the following district, very dense
forest area is minimum?

102.

103.

104.

105.

106.

107,

mwﬁm%-

(1) 5 A (@) #%

(3) g Bt (4) wifs @l

MOEMS T g -
{1)mgaﬁ—3ﬁ§f\?ﬁaﬁ’r—ﬁ$ﬁw—ﬁmm

(2) 3T SR gelggi-e WA Hiveqk
3) Arzm—difficd soas—HDHd A

(3) qrzsh1—3iificsd soiasife Hfar O

1 & 4 o | e g § gomsha &2
(1) B2T& D (2CT3 E -
(3) Avg C 4 ATg D

ORI H WK STer e Rery 27

(1) 3oPR & (2) sy #

(3) SagR # (4) SigR 3 |
frfefea & & o9 &1 e SR 9T 98
22

(1) X1

(2) REFRATHIR

(3) TH.UIR.GH. (SARS)

- (@) T
RIS &7 I g9 & —
(1) TR () 9rT B
(3) Jfgr (4) ReHE

108.

aRd 7 Rerfey Rt 2019 & sem, ey § |
% v Rt ¥ agt o et et |
&

(1) Jaisalmer (2) Alwar (1) SR 2) areraR
(3) Jaipur (4) Jodhpur _ (3) TR (@) e

"109. Which of the following frequency bands is not  109. iy & ¢ ) @ IMgRT 48 INSAT/GSAT
used in INSAT/GSAT satellite communication? JUUR HER 3'51 ST T R S 27
(1) MF (2) Ku (1) MF (2) Ku :
(3) Ka @c (3) Ka @) C

110. Mother — foetus Rh blood type incapability  110. we ey Ry Rh o1 v Ry 98 e
problems can occur if the mother is ................ ST B Wb R, A AL, @ 7d
and her fOELUS 18........... BT TR Ry 2
(1) Rh positive; Rh positive (1) Rh |29 Rh wRg
(2) Rh negative; Rh negative " ( Rh €; Rh @
(3) Rh negative; Rh positive (3) Rh 89; Rh wfeg
(4) Rh positive; Rh negative (4 Rh wfed; Rh &=
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74. The Net National Product at Market Price  74.

(N.N.P. MP) is —

(1) Gross National Product at Market Price —
Transfer Payments

(2) Gross National Product at Market Price -
Depreciation

(3) Gross National Product at Market Price —
Subsidies '

(4) Gross National Product at Market Price — Net
Income from abroad

7S. What is not included in the Index of Industrial ~ 75.

Production (IIP), which is the measure of
Industrial activities in the Indian Economy?

(1) Mining

(2) Electricity

(3) Manufacturing

(4) Gas and water supply

76. What was the rank of India in the Ease of Doing  76.

Business Index for 2019, as per the Doing
Business Report (DBR), 2020?

(1) 63 (@) 77

(3) 96 (4) 146

77. Atal Bhu - Jal scheme was launched on 1 April,  77.

2020 by Government of India, with assistance

of —

(1) World Bank

(2) Inter-American Development Bank

(3) Asian Development Bank

(4) European Bank for Reconstruction and
Development

78. According to census — 2011, what was the work  78-

participation rate in India and Rajasthan
respectively?

(1) 39.8% and 43.6%

(2) 43.6% and 41.8%

(3) 42.4% and 41.8%

(4) 39.8% and 36.4%

79. For empowerment of women Indira Mahila
Shakti Nidhi was launched on —
(1) 18 December, 2018
(2) 18 December, 2017
(3) 18 December, 2016
(4) 18 December, 2019

AR Tl O G I eI § -

(1) R qedf R §Fd THEA IR -

ERITTRYT 7T
(2) TR T R Thel TS SAE — FEH
(3) TR HeUl TR AHS ALY SeAE — &
wwvﬁhwmﬂ@um fadw

A g I
enfe Swrea fdws, Wt 5 wRdE
alaimawﬁaﬂa‘rﬁzﬁ%mﬁaﬂmmﬁ%m
T Aftaferd <@l fbar wmar 87 -

(1) ==

(2) g

(3) fafemfor

ORERCRECI ]

AR G RAE, 2020 & SER, &1 o
T Rea gEaid 2019 ¥ 9RT &7 DT
R 81?7

(1) 63 (2) 77

(3) 96 (4) 146

1 31d, 2020 BT IR TWHR ERT Y% N TS
mﬁ—wwﬁnﬁmwwﬁ
el HeRT ¥ —

(1) fisg §&

(2) 3 PR e I

@) WRrE Rem ¥
(ﬂgﬁﬁnmﬁﬁﬂm%gqﬂmﬁaz‘fzﬁ
ST — 2011 & ¥R, YRS UF o
ﬁmﬁwﬁmamﬁmﬁ?ﬁ?

(1) 39.8% T4 43.6%
(2) 43.6% TG 41.8%
(3) 42.4% UG 41.8%
(4) 39.8% U9 36.4%

- Aigemal & wufiarer 8q SRvr wfeear i

fafr 9 goena g8 off -
(1) 18 fRweR, 2018
(2) 18 few=R, 2017
(3) 18 fewwr, 2016

—

(4) 18 fewma, 2019 el

01-%
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a5

A4 §8

A8

5 lleyball 126
etball players are volicy ; .
126. Some of lhectm(‘:t}:ethe volleyball players are g%mha“m% T Raamsy g«
plagers, <07 . o basktball PIYeT is & r i T R g™ & e
a R‘iﬁl g
badminton player- . represents th Rerrey =g 2 Lt Reem WRhiex
Which of the following diagrat fEP : iR 4 3 g "
above Statﬂmcn{' uﬁa 'EFRT-“ -g-? Al ﬁa BTT!ij*a iﬁ?ﬁ -tfh

9 ;
@ - &
{3". Oé) (4) @)

127. Study the following then answer the question —
Statement : The petrol prices have gone up
during the past few weeks.

Courses of action : HTAArEY -
I The government should set up an expert | R & A R
committee to study the trend of prices. @R Y ﬁ% # ?.ﬁ]'m Wg
II The government should immediately reduce I “WReR 31 909 W @ é_ﬂ:’mq !
taxes on petrol. . . ey | L AR
IIT The government should advise the general - o \
public to refrain from purchasing petrol for M MY o] pl L A
" few weeks. g;ﬁg wiTe & forg Ut @ie 9§ IXe
Decide which of the suggested course of action .
follows. Aot BTG Bt DI U B! T B
(1) Only I (2) Only I ?)‘ -
(3) Only 111 (4) None of these 1) @ | -
(3) Baet I @) 57 7 P TE
128. Total number of squares and rectangles (both)in 128 g Ry 7y form & ama SR Tt (@) B e
the following figure is — =T § —
]!
2|x
3|e.
T |2
bosaie | I
2) 23
L 223 (121 : 4; o
®) 22 @ 19 (3) 22 1 e & | ¥To 3
- Kir.e“d“’. is the son of Ryjendra’s father. 129 4R T ﬁ“% afy & oK T @
ajendra’s paternal Aunt jg Manju. Adarsh is the T 2 3 B wara &7
?{‘:f:ﬂ;dpof Manju and sopip jaw of Prakash. 2| yoprd @ g7
rakash related 1 Rajendra? (1) gTaT (4) 8

(1) Grandfather

2 s ¥ b
(3) Nephew (4) B:(I:ther
01-%

_ ' _ A%
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120- Each of the digits 1, 2, 3, 4, 5, 6, 7, 8 and 9 18
Tepresented by a different letter in the following
figure, such that eachof “M + N +P", “P+Q+
R"\"R +8 +T" and “T + U + V" is equal to 13.
Which digit will ‘R’ represent?

M N P
Q
RST
U
(1) =
1 2
(3) 4 :4;3

121. .
In a group 6 girls and 4 boys, four children are

to be selected. In how many different ways can
they be selected such that at least one girl should

be there?
M 210 (2 209
@) 214 @ 206

122. A die is rolled three times. The probability of
geting a larger number than the previous
number each time is -

(1) 5/54 (2) 5/72
(3) 1718 (4) 137216

123. When watch shows 7:45 am, the minute hand
points towards East. After 3 hours, in which
direction does the hour hand point?

(1) East - South - (2) North - East
(3) South (4) East
124. A rectangular room is 12 meter long, 6 meter

wide and 4 meter high. It has two doors of size

2 meter X 1 meter each and two windows of size

. 1.5 meter x 1 meter each. If the rate of paint
(on the walls) is T 15 per square meter, then total
cost of painting the walls is —

1) 22155 (2) T1955

(3) T 2055 (4) 32010

125. Arithmetic mean of the numbers between 1 to
156 which are divisible by 2, 3, 4 and 6 is —

6;7!8

3 f w®

M N+ P’ PHQERY R L
) V"| 13

E}W?IR%

(2 3

a1
121, oo 6 TRl 3X 4 TSN T T 7 ¥ 4
o7 7a B &1 A 3T ¥ 3
S 99 T O |adl € Safh 39y oy

X TP D! AW B?

(1) 210 (2) 209
(3214 (4) 206
122. 755 G 1 i AR BT ST 8 | TS aR g
T T W 9 6T UK B B Wi
2
(1) 5/54 (2) 5/72
3 118 (4) 131216

123. 5ig & ga® @ 7:45 @ L 99 fe @
90 B 3R IURT o ¥ 3 6 9w, W

F 2 5 feam @) oiR gemr weeht ¥
() 9 — <feyor (2 S — gd
(3) =fiyor @) g

124 I SR B 12 e o, 6 e A9
T 4 AR T ¥ 3o @ oA WO
29X X 1 W B w2 Resht W
LSHER X | ey 9t #) afe S W
T B R 1S ofy o ey & @ AW

(1) 2155 E4 2 1955 %
) 2055% (4 20107

125, i : :

mﬁﬁﬁ%i“%ﬂ?ﬁﬁmgmm

(1) 91

(3) 78 (2) 76

(4) 74

(1) 91 (2) 76
(3) 78 (4) 74
01-%
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stat

135. Read the FOUOVRT, e (SCRD ~

3@

try to ensu o B
f;l;:r:y in an ungf;pcclcr.l situation.
¥ (i) This is an initiadVe ®
Wl one of them.

Choose the correct code -
(1) Only (i) is tru¢
(2) Only (ii) is true
(3) Neither (i) nor (ii) 1s true
(4) Both (i) and (ii) are tru€
136. Who is Najib Mikati?
(1) Prime Minister of Lebanon
(2) Prime Minister of Malaysia
(3) President of Kazakhstan
(4) President of Egypt

came into force on -
(1) 11 January, 2021
(2) 18 December, 2019
(3) 18 December, 2020

4
100 (4) 11 January, 2020

me? 138. Who is the author of the book “Sanskriti Ri

Sanatan Deeth™?

() Dr. Satyanarayan

(2) Arjun Dev Charan

(3) Aidan Singh Bhati

(4) Bhanwar Singh Samaur
138 Which player was the

closing ceremony of Tq

() Devendra hajharia
2) Avani Lekharg

u. IV s B:
e Mission Niryatak Bang

aspiri i i
ickd PINng exporters j launch:;n ll:;lg“ to promote

1
(1) Departmen; of Indy
an

Deparlrne,n of 1

f In
asth t
® Riicq W and RIicq

(4) Ra

SaSthani By
nd
0% Alion and RpzCoO

ements about Supply
Chain Resilienc® 0‘ rlm,-nmional trade, supply
(i) In the contex - i approach that helps a

. _eilience 19
chain resilienc - unimemlp:ed supply of

f five countries, India is

137. Rajasthan  Jan Aadhar Authority Ordinance

Indian flag bearer at the
kyo Paralympic 20207

Stries, Government of

dustries, Government of

135,

136.

137.

138.

139.

140.

ﬁ

3mgfef %@maiﬁam;r%qum (SCRD) & ary # -

3Mgft o - :
anwamm”wmé*
TF 2| :
el e ghg -
(1) Baet (i) o R
(2) Baa (i) wey &
(3) =1 B () 3R 1 & (i) wew 2
@) B (i) 3R (i) T §
Tola e o 82
(1) ST &y
() 7o & wurmEE
(3) TP & TSR
(4) g & wegufyy
ORI W MR WIEERT Ry @ny
'§3‘{|’_
(1) 11 Sa9, 2021 &1
(2) 18 fewaR, 2019 &1
(3) 18 f=aw, 2020 @1
(4) 11 SFad, 2020 3
T&F Hph A T e dEs P
114
(1) 3. IR
(2) 3ref71 <@ AR
(4) iR e ,
S SafufeE 2020 @ WA WANE A
PRI RaeiTd) AN € e T
(1) aw =Rl
(2) 3rafsy
(3) v RiE To
4 qq :
(ﬁ)émf m$mzﬁahﬁ$mwf:i1
e LTSRN AR@R & -
()] foprT, ;
mﬁ e, ORI EON v
(RIICO) &
(@) Rat (RUCO) - gt (RICO) T
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1- President Ram Nath Kovind granted assent to

which Constitutional Amendment Act on 18t
August, 20217

(1) 105 (2) 106™
@3) 107 (4) 108"
2.India  has signed Memorandum  of

Understanding (MoU) in March 2021, ‘With
which of the following countries on cooperation
in the field of Disaster Management, Resilience
and Mitigation?
(1) Nepal
(3) Bhutan
143. Tianwen-1 is -
(1) Moon rover vehicle of China
(2) Inter Continental Missile of China
(3) Space Station of China
(4) Spacecraft of China y

(2) Bangladesh
(4) Sri Lanka

144. Why Dholavira (Gujarat) was in news recently?
(1) Declared as Tiger Reserve
(2) Included in the list of National Parks
(3) This site was hit by terrorist attack

(4) Recently included in UNESCO’s world
Heritage site '

145. Jtaly won the UEFA Euro-2020 by defeating
which country in final?
(1) Denmark

(3) Germany

(2) England
(4) Portugal
146. “NABI MG" is -

(1) A variety of Barley

(2) A variety of Wheat

(3) A variety of Maize

(4) A variety of Millet

: i
147. India’s first farm based “KUSUM” solar power

project was commissioned in which village of

Y

141, qrzafy < PifeE e REE i
v T 18 SATR, 2021 1A 2

(1) 105df (2) 106d
@) 107 () 1084
142. 7 2021 3 e ¥ Prifea 4 9 5w v a

143.1%|-q1=|%|=r-1_%—
(1) A= @1 =51 AR TH
@) 97 &7 =R TRy A
(3) I F1 faRe LI
(@) A= 1 3faRerdr _
144, SedRT (ToRTE) BT 8 ¥ @a’i § i o
(1) e Red =ifte ganm
(2) Ty ST B g H e fhar
(3) T8 I DT THA T ABR FAT AT
@ e & A e A e fRea @ 49
wfafer fear
145. gecft 91 frer QW &1 TR TEUHY JRI-2020
®Igel Sier?
(1) a1
(3) ST
146. "9y TRl & —
(1) St 9 o e
(@) 1 T v fre
() 7w B vS e
(4) IISRT B TP oy

A IR B rore @ fw i § R0

(2) graive
(@) g

147.

Rajasthan? T Tar
(1) Bhaloji (2) Chitalwana S |
(3) Chanod (4) Rani & (2) Rraemar
arirg (4) 31
01-% e
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